Find the correct sets of coins

First Riddle

* \We are more than 20 ¢&.
* We are equal to a quarter.
* \We are more than two coins.

* The number of coins are a odd number.

Second Riddle

e \We are less than 3b Z.
* We are more than a quarter.
e \We are more than four coins.

e The number of coins are an even number.




Find the correct sets of coins

First Riddle

e \We are more than Q0 ¢.
* We are equal to a dollar.
* \\e are more than three coins.

* The number of coins are an even number.

Second Riddle

* \\e are less than 10 €.
* \We are more than a dime.
e \We are less than four coins.

e The number of coins are a odd number.




